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Building Standards in Educational and Professional Testing

SAMPLE PAPER 

REVENUE OFF

IT

1. Loading of operating system in a personal computer is called:

A. Booting

B. Prompting

C. Interrupting

D. Paging

2. In MS Word, the shortcut for searching in a file is:

A. Ctrl + X

B. Alt + B

C. Alt + X

D. Ctrl + F

3. The basic operation/s performed by a computer is/are:

A. Arithmetic operations

B. Logic operations

C. Storage and retrieval operations

D. Process information

E. All of the above

GK 

4. The largest ocean of the world is:

A. Atlantic Ocean

B. Pacific Ocean

C. Indian Ocean

D. North Sea

5. “Jeddah” is the seaport of:

A. Jordan

B. Kuwait

C. Saudi Arabia

D. Iraq

6. ‘Air Blue’ is the airline of:

A. Pakistan

B. Canada

C. Japan

D. None of the above
ISLAMIC STUDIES

7. Which of the following rukn-e-Islam is called a shield?

A. Zakkat 

B. Salat

C. Fasting 

D. Hajj
CURRENT AFFAIRS

8. Which organization has launched the quantum processor ‘Willow’?

A.
Google

B.
Yahoo

C.
Amazon

D.
Microsoft

9. The President of the 79th UN General Assembly, Philemon Yang belong to belongs to which country?

A.
. North Korea

B.
South Korea

C.
Cameroonian

D.
. Portugal
PAK STUDIES

10. .
Who set before the Indian Muslims, the National goal which later came to be known as Pakistan?

A.
Haji Shariatullah 

B.
Rehmat Ali 

C.
Allama Iqbal 

D.
Quaid-e-Azam 

11. .
The Third Martial Law regime of General Muhammad Zia-ul-Haq ____________ the constitution of 1973 initially.

A.
Suspended

B.
Abrogated

C.
Amended

D.
Cancelled
SUBJECT
12. The average tax rate is equal to the:

A. Total tax liability divided by taxable income

B. Rate that will be paid on the next dollar of taxable income

C. Median marginal tax rate

D. Percentage increase in taxable income from the previous period

13. The rate at which a firm can substitute one factor for another while still producing the same level of output is known as the: 

A. Degree of returns to scale 

B. Marginal rate of substitution

C. Marginal rate of technical substitution 

D. Marginal physical product

14. The wholesaler has which of the following characteristics?

A.  He sells goods to retailers.

B.  He sells goods to consumer.

C.  He sells goods to Manufacturer.

D.  None of the above.

15. The winding up of sole trader ship:

A. Require legal formality

B. Does not require legal formality or restriction

C. According to Situation

D. None of the above

16. 18 ÷ 0.04 =?

A. 4.5 

B. 45 

C. 450 

D. 4,500 

E. 45,000

17. What is 0.1 percent expressed as a decimal? 

A. 0.001 

B. 0.01 

C. 0.1 

D. 1

E. 10.0

18. Which one of these might you consider a violation in MANOVA and may be worth looking at alternative analyses

A. You have 30 participants per group in your between-participants design. 

B. You have normally distributed dependent variables and all linear combinations of the dependent variables. 

C. Box's M has an associated p-value of < 0.05 and you have unequal sample sizes. 

D. You have equal numbers of participants and it is a large sample size. 
E. All of the above
19. A group of people in which migration is zero is called

A. Radix

B. Cohart

C. Population

D. Mid year population

E. All of the above

ANSWER KEY
	Q #.
	Right Choice

	1
	C

	2
	A

	3
	C

	4
	A

	5
	A

	6
	D

	7
	C

	8
	A

	9
	             C

	10
	C

	11
	A

	12
	A

	13
	C

	14
	A

	15
	B

	16
	C

	17
	A

	18
	C

	19
	B
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